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ENE 10 4 3 1 4 3 1 100.0% 4 3 1 0.4
RHIEH 7 8 3 5 8 3 5 100.0% 5 2 3 1.1
—fREEL 2 3 3 0 3 3 0 100.0% 3 3 0 15
[mssEg s GREH. £5-21LH) 2 2 1 1 2 1 1 100.0% 1 1 0 10
R (RF) 2 4 3 1 4 3 1 100.0% 1 1 0 20
fRE2ZEM 5 16 0 16 15 0 15 93.8% 5 0 5 30
HEEt(DEHES) 1 4 0 4 4 0 4 100.0% 1 0 1 40
ESEE(BEE) 6 1 1 0 1 1 0 100.0% 0 0 0 0.2
EHIEH (BHE) 2 BEEGL |
tRE 1 1 1 0 1 1 0 | 100.0% 1 1 0 10
gt 1 4 4 0 3 3 0 75.0% 1 1 0 30
HeELt(REAIXEEME) 1 5 3 2 5 3 2 100.0% 1 1 0 50
REL 1 15 1 14 15 1 14 | 100.0% 1 0 1 15.0
BEM(BABE) 6 | EHELL |
ST (B4 1) 3 [ mzasL |
EERM (AR 2EH) 7 1 0 1 1 0 1 100.0% 0 0 0 0.1
K (BR2EH) 3 1 0 1 1 0 1 100.0% 1 0 1 0.3
HEIREEE BZER) BEEH) 1 1 1 0 1 1 0 100.0% 1 1 0 1.0
EHFBE ITESRR) 1 1 1 0 1 1 0 100.0% 1 1 0 1.0




